3&42.1 ndarray {RiEAI]

XEZ2 NI, FATEXE import FIEREAZIAEE.

import numpy as np
import pandas as pd

arrl np.load("data/1-task-arrl.npy")

arr2

np.load("data/1-task-arr2.npy")

iris_df = pd.read_csv("data/iris.csv'")
Hike5s]
1 BBIERAR G, 4, S HIR0, 21, 22H4A
# AEAEX AR AR AR
2. iBRIEIKE N 6—4EEH, HPEE) 24,22,20,18...,-6.
# TETEIX HLAR AR AR
3. EIRENENH arrl FUEEE. AR S2EEL
# IE1EX A AR
4. {53REY arr2 (AR SIFETF T,
# AR 1R B AR
5. B ER arr2 PRIGANTTRINT 00RIFSIRERIEA, FPREERNGEAE. HESINEE.
# AEAEX BRI
6. BB arr2 PRIFTETTERFAFMEEI—MEES set .
# AEAEX AR RIS
7. RN ERT ~ 9 TR (3, IR, BHEEMEE arr3 .
# TETEIX HLAR AR AR
8.1/t arr2 5 arr3 EHE— Ml LAYMER, arr2fEarr3 ZAIL

# TR B AR
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XEHAWER TEHENSEREGES (Iris Dataset) . SAEA iris_arr IZERIR 1ris_df BEUHE,
RPELASE2-55ROEURRRBIN), #UH iris_index FAERVRXIUFIMETR, iris_target FFERIZEE
THHIE, BD species FIFPRIEERE. 155ch MAER,

iris_arr = iris_df.to_numpy([:,1:5]

iris_index = iris_df.columns[1:5].to_list().copy()

iris_target = iris_df.to_numpy([:, 5].copy(Q

iris_df.head()

.dataframe tbody tr th {
vertical-align: top;

.dataframe thead th {
text-align: right;

}
Unnamed:
. sepal_length

] 0 5.1
1 1 4.9
2 2 4.7
3 3 4.6
4 4 5.0

1. B RS MHERISENSE

# X B AR

2. 18545 iris BUREIREN (IEN0, TERT)

# TEEIX EE AR

3. B BRSNS THIRHEE

sepal_width

3.5

3.0

3.2

3.1

3.6

petal_length

1.4

1.4

1.3

1.5

1.4

petal_width

0.2

0.2

0.2

0.2

0.2

species
Iris-
setosa

Iris-
setosa

Iris-
setosa

Iris-
setosa

Iris-
setosa
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# IHTEIX BRI
# #or: ATLLEENp . unique(arr) FEUITE A F HIME
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